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1 Circle the comparative adjectives.

The horse is big. The cow is The horse is quiet. The cow is
The hen is loud. The goose isThe donkey is slow. The cow is
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2 Choosé aorb.

This cow is bigger.

This animal is smaller.

This horse is louder.

This goose is quieter.

This.animal is faster.




3 Complete the sentences. Use the adjectives in brackets.
The _goose is _bigger . (big) (1]
The sheep js__louder _(loud)

The ___hen is __slower  (slow)
The donkey s smaller . (small)

The horse is  faster _(fast)
The _donkey s taller
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Well done, G2s!

Now let's get ready for Miss
Jennifer’s lesson.
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